No.05-07/2015-WL/G. II भारत सरकार / Government of India

संचार मंत्रालय / Ministry of Communications दूर संचार विभाग / Department of Telecommunications

(सामान्य २ अनुभाग / General II Section)

New Delhi, the November, 2016.

ORDER

Subject: Departmental Scholarship for the Academic Year 2014-15 to the outstanding college going children of DoT employees.

Sanction of the Chairman, Telecom. Staff Welfare Board is hereby accorded for the payment of Rs. 4,02,800/- (Rupees Four Lakhs Two Thousand Eight Hundred Only) on account of Scholarship to the outstanding college going children of DoT employees for the academic year 2014-15 as per annexure.

2. All concerned officers/staff are requested to submit pre-paid receipt (performa attached) to Shri Devinder Singh, Treasurer, Telecom Staff Welfare Board, Room No. 801, DoT (Hqrs), Tel. No. 23036305 for payment. In case any information furnished by any of the officers/officials mentioned above is found incorrect at any time, he/she will have to refund the amount paid to him/her.

(Anil Kumar Singh) Welfare Officer & US (T) Ph No.011-23036300

Copy to:

- 1. Treasurer, Telecom. Staff Welfare Board for disbursement of the award.
- 2. ADG (Admn.), T.E.C. DoT, Khursid Lal Bhawan, Janpath, New Delhi.
- 3. Administrative Officer, Wireless Monitoring Organization, DoT, E-Wing, 3rd Floor, Pushpa Bhavan, New Delhi-110062.
- 4. All DoT Cells.
- 5. Notice Board of Sanchar Bhawan/Dak Bhawan.
- 6. ADG (IT), DoT (Hqr.) for uploading the order to the department's website.
- 7. Sanction File.

DEPARTMENT OF TELECOMMUNICATIONS

Dated			SL No				
Vr. No	:1	# * *					
	PRE-RE	CEIT	,				
Received a sum of Rs	(Rs	***************************************	only)				
		*					
towards Book Award/Incentive	/Scholarship of my	ward name					
tudying in classat SL	No vide or	der No					
*							
Dated Cash	/ Cheque	dated	1				
		14					
			*				
		Signature					
		Name	••••••••••••				
Oated:		Designation					
		Office					
		Tele. No					

L'

The state of the s

Scholarship for the Academic Year 2014-2015 (2nd List)

Sr No	Name of the Employee (Sh./Smt./Ms.) & Designation	Office	Name of the ward(Mr./Ms)	Relaxation	Minimum Qualification	Stage in which studying	Marks(%) in qualifying exam	Rate P.M	Month	Amount Admissible (Rs)
1	Sudhakar S , Director	O/o DDG TERM,Chennai	Smirna Sornam S	No	12th	B. Arch 1st Year	94.50	800	12	9600.00
2	R Bangar Raju, JWO	WMS, Visakhapatnam	R Sai Salvika	No	12th	B. Tech 1st Year	93.20	800	12	9600.00
3	Sasanka Sekhar Samanta, AAO	NICF, Ghaziabad	Anshuman Samanta	No	12th	B. Tech 1st Year	78.00	800	12	9600.00
4	Bijan Kumar Bhattacharjee,	IWMS, Kolkata	Saptarshi Bhattacharjee	No	12th	B. Tech 1st Year	69.33	800	12	9600.00
5	K K Sharma, SA	O/o CCA, Jaipur	Anant Vashistha	No	12th	B. Tech 1st Year	95.20	800	12	9600.00
6	Rajesh Sharma, ASO	DoT (HQrs)	Namarata Sharma	No	B. Tech 1st Year	B. Tech 2nd Year	72.50	800	12	9600.00
7	D S R Murthy, AAO	O/o Pr. CCA, Hyderabad	Davuluri Sai Goutam	No	B. Tech 1st Year	B. Tech 2nd Year	78.25	800	12	9600.00
8	Chaganti Ramesh Babu, JWO	WMS, Bangalore	Chaganti Sabat Chandra	No	B. Tech 1st Year	B. Tech 2nd Year	75.40	800	12	9600.00
9	Ch Adiseshu Sarma, SA	O/o Pr. CCA, Hyderabad	Ch. Harini	No	B. Tech 1st Year	B. Tech 2nd Year	65.7	800	12	9600.00
10	O Kanaka Durga, Stenographer	O/o Pr. CCA, Hyderabad	B V S Srikar	No	B. Tech 1st Year	B. Tech 2nd Year	67.30	800	12	9600.00
11	Anar Kumar Ray, ACCA	O/o CCA, Bhubneswar	Abhishek Ray	No	B. Tech 1st Year	B. Tech 2nd Year	81.65	800	12	9600.00
12	Shanker Lal Bhalotia, CCA	O/o CCA, Bhopal	Anchal Bhalotia	No	B. Tech 1st Year	B. Tech 2nd Year	73.75	800	12	9600.00
13	K K Sharma, SA	O/o CCA, Jaipur	Meenakshi Vashistha	No	B. Tech 1st Year	B. Tech 2nd Year	87.50	800	12	9600.00
14	Arun Kumar Nayak, SA	O/o CCA, Bhubneswar	Anant Narayan Nayak	No	B. Tech 2nd Year	B. Tech 3rd Year	66.50	800	12	9600.00
15	Ram Pratap Singhal, DDG	O/o DDG TERM,Haryana	Chirag Singhal	No	B. Tech 2nd Year	B. Tech 3rd Year	76.90	800	12	9600.00
16	Sangeeta Chugh, Director	DoT (HQrs)	Ashita Chugh	No	B. Tech 3rd Year	B. Tech 4th Year	68.00	800	10	8000.00
17	Swapan Saha, SA	O/o CCA, Kolkata	Bidushi Saha	No	B. Tech 3rd Year	B. Tech 4th Year	81.50	800	10	8000.00
18	Kulwinder Kumar, Director	O/o DDG TERM, Shillong	Surbhi Samra	No	B. Tech 3rd Year	B. Tech 4th Year	76.65	800	10	8000.00
19	A S Ravi Kumar, AAO	O/o Pr. CCA, Hyderabad	A Sree Harsha	No	B. Tech 3rd Year	B. Tech 4th Year	76.38	800	10	8000.00
20	E Arjuman, MTS	IWMS, Chennai	A Denit Kumar	No	12th	B.E. 1st Year	70.08	800	12	9600.00
21	Dr. K Francis Jacob, Director	O/o DDG TERM, Chennai	Jiztom Francis K	No	B.E. 1st Year	B.E. 2nd Year	80.53	800	12	9600.00
22	Ajit Kumar Jain, SA	O/o CCA, Bhopal	Udit Jain	No	B.E. 1st Year	B.E. 2nd Year	76.30	800	12	9600.00
23	Anand Purshottam Wagh, JWO	IWMS, Mumbai	Atharwa Anand Wagh	No	B.E. 1st Year	B.E. 2nd Year	76.71	800	12	9600.00
24	A N Thammaiah, AO	O/o Pr. CCA ,Chennai	Rajat A Thammaiah	No	B.E. 2nd Year	B.E. 3rd Year	77.00	800	12	9600.00
25	Sudhakar S , Director	O/o DDG TERM, Chennai	Sharon Sornam S	No	B.E. 2nd Year	B.E. 3rd Year	80.45	800	12	9600.00
26	J Devarajulu, JWO	WMO, Chennai	D. Koushik	No	B.E. 2nd Year	B.E. 3rd Year	65.00	800	12	9600.00
27	Archana Verma, JA	O/o CCA, Bhopal	Suraj Verma	No	B.E. 2nd Year	B.E. 3rd Year	65.30	800	12	9600.00
28	R Janardhan, SA	O/o Pr. CCA ,Chennai	Madhumitha J	No	B.E. 3rd Year	B.E. 4th Year	81.10	800	10	8000.00
29	N Manivel, SA	O/o Pr. CCA ,Chennai	Manisha Kumari Manivel	No	B.E. 3rd Year	B.E. 4th Year	82.30	800	10	8000.00
30	Nasreen, SA	O/o CCA, Bangalore	Zeba Iqbal	No	B.E. 3rd Year	B.E. 4th Year	68.22	800	10	8000.00
31	Deepak Chadha, ASO	DoT (HQrs)	Shivam Chadha	No	BBA 1st Year	BBA 2nd Year	75.00	800	12	9600.00
32	K Chinnadurai MTS	WMO, Chennai	C Harish	No	BCA 1st Year	BCA 2nd Year	69.13	800	12	9600.00
33	Sushil Kumar Jain, AAO	O/o CCA, Jaipur	Priyal Jain	No	BCA 2nd Year	BCA 3rd Year	72.17	800	10	8000.00

We!fare Section / G.II

Scholarship

34	S Jeyakumar, JWO	IWMS, Chennai	J. Ida Esther Celin	No	12th	BDS 1st Year	94.50	800	12	9600.00
35	Debu Dutta, Driver	IWMS, Kolkata	Diya Dutta	No	12th	BHM 1st Year	67.17	800	12	9600.00
36	P V V Subrahmanyan, SA	O/o Pr. CCA, Hyderabad	P Harsha	No	12th -	MBBS 1st Year	97.50	800	12	9600.00
37	Sanjay Makkar, ASO	DoT (HQrs)	Shruti Makkar	No	12th	B. Com 1st Year	82.80	500	12	6000.00
38	K Srikala, SA	O/o Pr. CCA, Hyderabad	P Kameshwari Vaishnavi	No	12th	B. Com 1st Year	73.40	500	12	6000.00
39	Sanat Ghosh, SA	O/o CCA, Kolkata	Sayantan Ghosh	OBC	B. Com 1st Year	B. Com 2nd Year	57.2	500	12	6000.00
40	Chandra Mukherjee, TOA	IWMS, Kolkata	Dipanwita Mukherjee	Girl Child	B. Com 1st Year	B. Com 2nd Year	56.60	500	12	6000.00
41	Ajay Kumar Koli, ASO	DoT (HQrs)	Shilpi	SC Girl Child	B. Com 2nd Year	B. Com 3rd Year	63.00	500	10	5000.00
42	V Srinivasa Rao, JWO	WMS, Visakhapatnam	V Satya Bhargavi	OBC Girl Child	12th	B. Sc. 1st Year	60.17	500	12	6000.00
43	P Pulla Reddy, SA	O/o Pr. CCA, Hyderabad	P Aheshna Reddy	No	12th	B. Sc. 1st Year	90.70	500	12	6000.00
44	A S Ravi Kumar, AAO	O/o Pr. CCA, Hyderabad	A Mounica	No	12th	B.Sc 1st Year	92.00	500	12	6000.00
45	Naresh Bhandari, JWO	WRHO, Mumbai	Neha Bhandari	No	12th	B.Sc 1st Year	71.20	500	12	6000.00
46	Jayanta Choudhry, SO	DoT (HQrs)	Sujayata Choudury	No	B.A.1st Year	B. A. 2nd Year	91.43	500	12	6000.00
47	H C Arya, ASO	DoT (HQrs)	Shikha Arya	SC Girl Child	B.Sc. 1st Year	B.Sc. 2nd Year	59.00	500	12	6000.00
48	B Narsinga Rao, JWO	WMS, Visakhapatnam	B V V V Sree Kavya	No	D. Ed 1st Year	D. Ed 2nd Year	79.00	500	10	5000.00
			Total							402800.00

It is certified that the wards as per details given above are elegible for the Scholarship.

Prepared by (Signature of Dealing hand)

Checked by (Signature of SO G.II)

Countersigned by (Signature of US [T])